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108 km / 1100 m de dénivelée

Houppeville
Quincampoix

Vert-Galant
Morgny-la-Pommeraye
Gruchy
Blainville-Crevon

Ry
St-Denis-le-Thiboult
Vascoeuil

Perruel
Perriers-sur-Andelle
Saint-Honorine
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Lyons-la-Forét
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en face
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a gauche D1

a gauche D18

a droite D6

a droite D132
gauche/droite
a gauche D2

Le Coisel

Ecouis

Marcouville
Houville-en-Vexin
Amfreville-les-Champs
Pont-Saint-Pierre

La Neuville-Chant-d’'Oise
Boos

Epinay
Saint-Jacques-sur-Darné

Roncherolles-sur-le-Vivie
Fontaine-sous-Préaux
Isneauville

La Muette

Houppeville

en face D2
droite/gauche D20

a droite D20

a droite D126

a gauche D321
a droite D138
en face D138

a gauche D6014
a droite D91

en face D91

&l droite D7

en face D91

r2 fois gauche/droite D91
a droite D47

a droite D928
a gauche D151
a gauche D47
a gauche D90

a gauche D121
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